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Q:1 Each question given below consists of a
statement, followed by two inferences numbered |
and IIl. You have to decide which of the
inference(s) follow(s) from the given statement.
Statement: Science and Technology Minister of
country Y, introduced a Virtual Science Lab for
Children under a Science-based Research
center that will help students to interact with
scientists across the country.

Inference:

l. Students of country Y will have more quality
research exposure compared to the students of
country X.

Il. This initiative will prove to be fruitful for

the students of country Y.

1. Only | follows

2. Only Il follows

3. Both | and Il follow

4. Either | or Il follows

Q:2 Read the following statements carefully and
decide which of the following conclusion (s
follow(s) the given statements.

Statement: The government of state X has
introduced a road safety initiative through
which first responders of road accidents will be
trained. Some experts will train local

people working at the nearby restaurants or
companies located near accident-prone spots.
Conclusion:

I. Training the local people will help to provide first
aid to the patient on time.

Il. The humber of accidents will be reduced.

1. Only conclusion | follows

2. Only conclusion Il follows

3. Both conclusion | and Il follow

4. None follows

Q:3 Read the following statement carefully and
decide which of the following conclusion(s)
follow(s) the given statement.

Statement: P.M. recently launched two innovative
customer-centric initiatives of the Reserve Bank of
India (RBI) - RBI Retail Direct Scheme, by which
they can directly invest in securities issued by the
government, and the Reserve Bank — Integrated
Ombudsman Scheme, which will be a single point
of reference for customers to file their complaints,
submit the documents, track status, and provide

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal

QO +91 - 8436586516, +91-8436900456
B thedhronas@gmail.com
@ thedronas.com

RONAS

Ensuring success through skills

WB Civil Services

Special Question - Logical Reasoning

DAILY
DOSE

Other Competitive Exams

English

feedback.
Conclusion:

I It will improve access to the government
securities market for retail investors.

Il It will be a time-saving initiative.
1. Only | follows

2. Only Il follows

3. Both | and Il follow

4. None follows

Q:4 Statement: The government has announced a
new policy to promote renewable energy sources.
Assumptions:

l. There is a need to reduce dependence on non-
renewable energy sources.

IIl. The new policy will lead to a significant increase
in the use of renewable energy sources.

1. Both assumptions | and Il follow

2. Only Il follows

3. Only | follows

4. Neither | nor Il follows

Q:5 In the following question, a statement is given
followed by two arguments. You have to decide
which qrgument(s? are strong in the given
statement.

Statements:

Should TV reality shows be completely banned in
India?

Arguments:

I. No, there should be no such ban on the creative
pursuits of the filmmaker.

Il. Yes, this will significantly damage the mind and
kill the time of the young generation.

1. If only argument | is strong
2.1f both | and Il is strong

3. If only argument Il is strong
4. If either | or Il is strong
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Q:1 The correct answer is Option 2 i.e. Only Il follows
Inference I: Nothing about the students of country
X is mentioned so, they may or may not

have quality research exposure compared to
country Y. So, it does not follow.

Inference II: This inference follows as it is
mentioned that it will help students to interact with
scientists and students will get to know more
important things and clear their doubts as well.
Hence, option 2 is the correct answer.

1.(2)

Q:2 The correct answer is Option 1i.e. Only
conclusion | follows.

Conclusion:

I. Training the local people will help to provide first
aid to the patient on time. True (as it is mentioned
that first responders of road accidents will be
trained by experts and providing first-aid is the
first and foremost part of treating any person)

IIl. The number of accidents will be reduced. False
(Training the local people to treat the wounded
people is mentioned not about the reduction in the
number of accidents.)

Hence, only conclusion | follows.

Q:3 The correct answer is Option 3 i.e. both I and I
follow.

Conclusion:

. It will improve access to the government
securities market for retail investors. True (s it is
given that the RBI Retail Direct Scheme will help
them to directly invest in securities issued by the
government.

II. It will be a time-saving initiative. True (as direct
investment in government securities can be made
and there will be a single point of reference for
customers to file their complaints, submit the
documents, track their status, and provide
feedback. This will save time.)

Hence, both | and I follow.

Q:4 The correct answer is Option 3 i.e. Only |
follows
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Assumption | is valid because the government's
announcement of the new policy implies a need to
promote renewable energy sources, which can be
seen as a step towards reducing dependence on
non-renewable energy sources.

Assumption Il is not necessarily valid, as it is
possible that the new policy may not lead to a
significant increase in the use of renewable energy
sources. While the policy aims to promote
renewable energy sources, its effectiveness in
increasing their use depends on several factors
such as the level of implementation and uptake by
the public and industry.

Therefore, only assumption I is valid in this case.

Hence, the correct answer is Only | follows.

Q:5 The correct answer is Option 2 i.e. If both | and
Il are strong.

Arguments | and Il are strong as this move affects
the creativity of the film badly

TV reality shows are the creative pursuits
presented by the filmmaker and of course, this will
significantly damage the mind and kill the time of
the young generation.
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